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/51;”)1’ The world’s population

----- Gazamex Joo

I.#®iC

VLT in) i % K 12 JH: increase. if, hour after hour, multiply , multiply-- by, chal
lenge .beginning, at the beginning of, square , hardly, more and more, prefer, prefer to. ..
rather than. . ., rather than, used, beg one’s pardon, worth, second — hand, diagram. discus-
sion, be busy doing, chart, download . path
. BEZFRAE

1. What's the population of. . .7

2.1 wonder if that's a lot of people for the size of the country.

3. There will ke standing room only on the earth.

4. They prefer (o buy a new one rather then repair it.

5.How much does a car cost. . .7

6.1t can cost as little as 50,000 and as much as 300,000 yuan.

7. That's worth more than two millien yuan.
. \FEHIR

[IRUPRE I

1 didn't know that they would be able to buy another car

He didn’t say when she was coming.

2. BRI
hundred, thousand . million,, billion

b B

[{1) What's the population of Germany? BEADZEED?

population B3 ATHEC, " 2RIER" . ST
(14 A 1122 B what, <} how much B how many. #/40:
What's the population of the city? X TR ATH £ A7




2 Unit 13 The world's population

What's the population of Pizhou? AH|A % A7

(2) populavion J& AR ¥ & 10, K & H0E =0, (HAT i of oA edin] a. R F AT,
SRIMG U, IR Sh A B A Rk ISR A . R
The population of the earth is growing very fast.
HER B A DRI, (GRIMEE)
One third of the population here are farmers.
HEM =z —MACRRR, GRS

(3)F% 5 HAKR A LT have a population of + (. .
Pizhou has a population of more than eight million.
L4 800 £ AD.

(N B E R B many(much), few( litde ), B F] big, large B samll.
The population of China is larger than that of India.
FEEADINENADE.,

Do you think the world’s population is too big? #RIAAHEF A
1k S
(1)the world's population £ 3“4t % A 11", 7T LA the population of the world
&l the world population.,
(234G big ERE". FRA DR &6 E A big, lage B small,
ifii A< Hi many, much 5%, few, litle., Il
China has a large population. 1 E A TR E .

During that time, the population of the worid increased by 259.
fEsXEant i E L, #ERA DRI RS 259 A

AR by R4, KRR E AR Fla.
The price of oil fell by two yuar a kilo meat. B TR TR T 270k

However, during the next hour, over 15,540 more babies will be
{4 born on the earth. S8 1T , £ F—4- /Dot B FE MR b OURRIR A
15,540 2~EIL.
(1 however ikl Ai T 40 @ ek B R R B R AT A0
Later, however, he decided to go. il R R MIRE LT
however #EIIT 78 1A  BIHART , B4R EH ik lif". 5 Sl RIE M
41,424 F no mater how. {0

However cold it is,she always goes swimming.



TAEFRAMGSHE) WIZHIBT) 3

AN R 8 D E Lk

(2)on the earth 324" fEMER £ fe R R0 3L
Marx was the greatest man on the earth.
S R R LR KA

i3 So it goes on, hour after hour. X FE— A~ /pB X -4~ /if i
TR E.
(1)go on (5 SUR HEEE T 227 HREE T, JLU0.
Strike poes on. S U {EAEEE
Please go on wilh your work. i TfRIE.
(2)hour after hour FEEBUE" — /i R—pat ™ -kl E - T ek
MO UHEEERET .
The fool waited for a hare behind the tree hour afier hour, but no hare came.
BT M e TR R T AR ART R

In one day, people have to produce food for over 370,000
mouths more. £ — K, ATIANEA T 5 5hi% 370,000 % 5K
ik 34 .
SEEF : mouth M & 7 maue” 21 & mouths Y15 F [ mavsz | 1E I
L. a4

house| haus | houses, hauziz]  youth jud!  youths! jusz]

££7) Multiply this by 365. HLX A8 LA 365.
multiply-+by-+- & Ry Fld oo T fAln.
Six multiplied by five is thiny. /S ELLICF T <4, (6x 5=230)

At the beginning of the twentieth century, the world’s population
[{8] was about 1,700 million. {H &7 Hited g, R AR LH 17
fe.
{1t the beginning of - (1) B fE - 2R - FERET Xn-

We will go (o the Summer Palace at the beginning of May.

Fefi 14 8 B 2RI

BT A e - 9P W1 CE]) " 1 P in the middle of -3 AR TE I K
"1 at the end of+-. AL

At the beginning of last month, he visited the Sumnmer Palace. In the middie of
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may, he visited the Children’s Palace. At the end of this season he is going to visit
the Palace Museum. £~ A%, W TEME. RAFHMBEM T4 F
g EXTRENRRLE AITREREE.

(2)the twentieth century 89 8 B AL (55) T 140" e i 7w L F N in
the twentieth century. century B R HE" " HE". Xi.
in the 70's of the 20th century 7E =+ fH#2-£ 1 F
In China the first English textbooks were published in the late nineteenth century.
e, PR R R A R A H LB 2 A R

That means that in about 600 years, there will be standing room
only on the earth JXER BB ETE AL 600 SE 25 R AR
MR .

in+ - EREFA), B AR BHA LTS ", TR M SE B 5 ; after + — BLBY
i, % Rt Aend 25 s after + BHE]A,, A AP RBS R ep. Bldn:
What will happen in a hundred years? — /2 5 # & B tH A HRY
1 finished the work after three days. = A5 H 58 1L T ABIT-4F.
He will amive afier wo, B &5 5B A SEAF) .

) There will be hardly enough space for anybody else. ¥ & &
R 7 BT BRI A -

(1)enough space FIE L RS RIS ™ L HEMT ", enough X EEE
FERMEE T, MBI 2 1] space, HEARRELE S " BR" S T room
% place, XAI:
Is there enough space for five more people?
FREE T A 7 85
There isn't much space left, A E T .
4, space AT ) RS THEE., Bl
Between the earth and the moon there is nothing but space.
HEER A H BRZ [B] FA T
The moon is our nearest neighbour in space.
e, ARRERINRILN®E.

(2} for anybedy eise K18 B (A MEMHIMA" FEZ HERE. fo HEE
BB FRab g,
Here is a leter for v ! ¥ L HREE!
We study hard for the poyic. BATH AR ¥



(ARFARMGH WEHRB T 5

As more and more people have cars, there will be fewer people
i) wanting to buy cars, then cars will become cheaper. 258 ¥ %
E[?Af]'?ﬁﬁiﬂi.ﬁ"iﬁ-?ﬁﬁﬁ)\ﬁﬁﬁ‘ FRERTHREE

-

(yas &30, B2 I g1 RpREM AL, #in.
As 1 left the house I remembered the key.
FERFTRE BE THEE.

(2)more and more ¥ " B -+ R B D PR IE B BT FRiA e A il fF
SR, .

The story gets more and more interesting. A %8 A T 88
The things we must master are more and more difficult.

Fe Al )7 o R (R R TG R R T

More and more students become cleverer.

R LR R T

( 3)wanting to buy cars JEBLE 7+ i 5 i people AYIET . XM
There is a purse lying on the ground 3 EH — -2

When their car becomes old, they prefer to buy a new one rather
{2 than repair it, A0 T e, Al M 3B — 85 e v AN L i A
r‘E: .
(1)prefer A to B BLH" T Bl AE ET ATAENR BT, f:
Tom prefers meths to physics. Fi T e R A B
(2)rather than & 7 1] e A4S A A
1. rather than you, should do the work.
e TARN RTR TR A
1 will go to meet him rather than wait for him.
Fop R R, KRS,
(3)prefer to--rather than & T g (R % oG AEW", 5 pre-
for--to ) %, 25 BITE T ; prefer---1o0 F T Mg i 4 7 AUHA & At M
" 10 Jib i, prefer to- ather than i &) 1@ A A =il rather than R ik
i S - TR o My SinE AR AL .
1 prefer( playing ) foothall to{ playing ) baskethall,
TSI R, R VTR
He prefer to do rather than talk. {1841, ASE W
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l:@ How much does a car cost in China?”
ferpE--WEEES PR

cost BT IETESY BRI Fl:

He spent ten yuan buying the book. flE %X A 45 E T 10 JCH .

She spent two hours doing her homework . it 7€ 1 #--/aHEE Ak
pay BORCIENEEE, A2, EIREA L N,

1 paid him 20 yuan for this dictionary. 3¢ {7 b 20 705K 73X 4 H .
take FLBEFEER TSR] HEH i R EE. Fl0:

It took me two days to finish the work.

FeAE T W R A B ] G 1o T

{4 1 beg your pardon? iR —i-

B R AR R R R A WA T Y
JFR— . (. G107 Beg your pardon? B Pardon? HLERAIT
|

sorry 1§75 4 A-E F 8 AT R 5 R A . Exause me 74T
HRAGT I SHIE, AR R

That’s worth more than two million yuan in China! fEFEE
1 200 275
worth B5 24 (7 - B AT o U ER BT B A ROR, R E R
Ziileligh ol fian:
“The bock is worth 3 yuan, 7= 13ffi = L8k
The dictionary is not worth buying . i 4% i #tA{HF %

A 2 o RSP KRB < small, slowly, quickly, faster,
DE more, smaller, fewer, healthier.

_ There will not be enough space even to stand in on the earth. 5
V8D o censg ot R SATOSIOM T .
space [F)ELBIE = l0]", B A AT H A A 1o stand in A fEE B BT
space. {ALIBERAE . Tk FIEEN % et , RN s i, BT
i LAIRLE A E.
He still had no house 1o live in. i8R H B FIE .



Please give me a piece of paper to write on. i — K S F 4L,

As he was busy searching the internet, he became interested in
[d8 how different countries were. 1F: 2% flit:F 1- I, ft %4 A< [l (6]
FAMGHR™ 4 T M
(1)be busy doing &A1 F " X R MRS (/0.
He is busy playing football. fil iFAT T-i% S 8%
(2)become interested in § F At -+ IEGH" 5 be interested in FHF]. FI40:
He became{ was) interested in English. {tu 7] %5 TR 804 8k

{?;J EE‘Hﬂn

O 1T 125 E R AR
WM ) SRR A A will do Boshall do C.be(is.am.are) going to do
A They will go back to their hometown next week.
A BELTCREFATIE S
B:[ shall buy it next time, TR LE. (shall LHESH - APTH 1A we ff
[
C: What is he going to do tomomrow? 1t ] Kl {2
O — AR EHSERTIRA T E R EFT SN
will-=would , shall—= should , amis/ are going to-=was/ were going 10
will do—would do shall do-*should do
is(am) going to do—was going to do  are going 10 do—were going to do
He said he would go shopping this afienoon. il 5 K FF & LK AN,
We never said where we should go, BT A 1 E LR
She told me she was going to buy me a present on my birthday .
R i TE IR L RESH - - ELad -
Gﬁﬁ’ﬁﬁﬁﬁEEEESUE:F
R R S S R AR R R R E R R R
ShAE L S T AR SRR
Hefdi]; Lin Tao duesn’t know how he will go to work,

Lin Tao didn’t know how he would go to work.
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X /"__

ﬂﬂﬁﬁ

[ 1, The poor man had no room to live

A, with B.on C.in D. for

ﬁ‘ﬁ BE&C, BV live 15535, 1 6 room, live 4 F & #1507, ’E%ﬁﬁé’ﬂ
LS reomEEMNAFE in, EREAREEH CHLL

@_psmmdm“w _her mother.
Ao B.at C.with D.on

BT B C. agree o do sth. KR F & F £ ¥, agree o sth, H B idea.
plan % . agreeonsth. 7 " AX¥ &£ 5", agreewiﬁsh.ﬁﬁ%“ﬁt_
RATHRERERNC. S '

E ] 3 [ prefer to dance rather than
A sing B.to sing C. sings D. singing

434 E B2 AL prefer to do sth. ratherl]mndosﬂl 3 ?ﬁﬁk%#ﬁﬁ?fﬁ?ﬁ
B HP thnm EEGHEATERAE 20" AR EREEA AT,

Ell 4" The pupil asked his teacher if __ a match the next afternoon.
A there were going to be B.there was going to have
C.there would be D. there would have

ﬁ‘dﬁ EERC, —HERANRANAEEA AR ER AN RAEN
A, 1 will go to Shanghai next month. {8 7 2 41 40 # , How time files! Fff
HHAERLTRLH DREANSE D" XA LB B EL LS
#if R R - &%*Wﬁgﬂiﬂ%ﬁ%m o, Hes.nidhew:ldvisit

fﬂ ) Thanks to the space satellites, the world itself is becoming a smaller

place.
A, much B . more C.much more D. most



(e F ARG WERBCF) 9

ﬁffﬁ

HEEA LRARRE RGBS E LT, H 40 My brother 15 very
older than 1. £ & very T & 5 bk 3¢ 20 8 B35 B, % 4 7 20 A : My brother
is much( far)older than L b B RBT B B ETUATHENEE . F L%
LT 2 ) 3 & 8 69 1% 1% 15 ;stll, quite(a bit) , any, almost, nearly . just, even,
rather; b} % 7 72 B 55 52 6 (4 115 . a Linle, a bit, slightly; ) & T £ X 8 . R 1
1% 3% : much, very much, so much, a lot, a great deal of , far, over, many; d) & 7=
#H B o5 % 5 twice, ten times, ane fourth, two pounds %, fw: (1) This
book is far more interesting than that one. K X HF L B AL HF AR £, ()
Things are no better than before . t 4% 7F Tt LURT 4T . (3)This text is a bit easi-
e AERAMMER A,

Lﬂ_ﬁ' That means ___in two wecks there will be a football match in our city.

5

A that B.this C.at D. those

Efk A DRERPERERARBFLRAL, HRRALEREE. X
S S LT inwo weeks AR HPRERERFAANEH N, X
¥ T4 % # fil — 4 : That means that in about 600 years, there will be standing
room only on the earth. X 8 H ok F , K & 600 £ FH K LH AA N HHA

m I'm afraid there will not be enough place to stand _the earth.

B

An B.on C.in on D.onin
%T‘[ﬁ,‘!‘}iiﬁﬁiﬂm,ﬁ;‘? EMEHLE" %ﬁmthewﬂn wha, ZFEEJF
4§ to stand W EE R place. THA M S EH LR HRE: i

1. Who are you waiting _______the room?

A.for B.in C.in for D. for in
2. She has two children to look home .

A.at at B.after in C. after at D.at after
3. She was not taken good care all.

A.of at B.at of C.of for D.for at
4, Who was she angry that time?

A.at with B.at C.with D. with at
5. Who do you listen __class?

A.in B.to for C.toin D.in to

EHREER:1-5 DCADC '
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m {(1)Twas tired, so T weni to bed early .

ﬁ-ﬁ

A not a linle B.not a bit
(2)Never mind. T don't care
ALa little B.a bit

EEH(IA (B, HHFH alide ¥HT5 atit B, REXXHR, |
1 ; Please wait a bit(a little) . K # % . She said she felt a litle(bit) cold. % # -
BEALES, BR notabit 5 notaline hXEH T FMA. He¥k . (1)
I'm not a bit bungry. # — A& & F . (2)I'm not a lile hungry. RBHE T
{3)1t has given me not a little trouble. 3 % 7 #,F & M. (4)—Somy to have |
troubled you. —Not a bit. —# T & FALT . —BLHHE: (—AELF)

|E } Which of the four is right?

S

A.There is only a standing room in the bus.

B.There is only staading room in the bus.

C. There are some sianding rooms in the bus.

D. There are many standing room in the bus.

EEAD, rom FAEHEIREFTRER B EBEA B HE,
room %% B M S K, AR THAEE. (1) Let's make room for the :
old woman. it # 1T % #j 3 F % # & L # X k. (2)Ther's no room here. ;
Please sit over there iX B # 6% 7, # M & . KU KT 4+ F A room’
WEEEE: Mismfmmgmdsin ﬁsm,ﬂfﬂﬁiiﬁﬁfqg

CEBERE.
ﬂ 10, 1 decided (o stop and have lunch T was feeling quite hungry.
Aas B. because C. since D. for

ﬁ'*ﬁ B E & D, for A HIIET, R FHHA, ATEBIE, KA K, be-

camse ETALAWEARE AR, I FUNT —REEETHE T FL why B
7, R4 i because.os R HERFEAWEE A RETE AREHE
EHE, sce RER KA ATV o, EAMUUAGFEALF
o EE L because HH. 2 NELAEEES L, :(1)Is getting dark, for .
it‘sgoi.ngtorain.f2)Asheisi]l,we\\d]]havewaskl.tbeiinstead,ﬂ)l'lldoil;
forymsimeyouarehusy.(4)l-leismﬁngMisthmg’schsscsbmmesheis;

L R



AEF RIS S anE=HE T 11

AR FE SRR TR R T )

1. __ become larger in number or degres

e __ hundred vears

3i.b__ thousand million

4.p ____ the number of people
Su secondhand

B}
6.

FURBR &5 T 205 25 182 20 s
Do you know what's the population of China by the end of the __ {1wenty ) centu-
ry?

. Um afraid there will be  {stand)room only in the world some day.

8. Atthe  (begin)of this term, we did a lot of good things.

.Heisbusy _ (leam)the computer.

. The book is worth _ {read).

. She prefers to do rather than __ {ralk).

. During that time,259 ( baby ) were bomn in the world.

Two _ (multiply )by three is six.

. Look at the list of cars and their prices. Then have s (discuss)about why your
car is the best.

. The car isn't too new. [ scems tobea _ (use)ear.

CHEIE FHIRIN.

6
17
18
19
20

cslowdown_

. at the beginning of
. prefer to - rather than
CHOKHE

EEEHD

I 2mmz=.

1.

Idon't know

A.how much is the population in Xuzhou
B.what is the population of Xuzhou
C.how many the population in Xuzhou
. what the population of Xuzhou is



